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NO.5+4.70~NO.5+16.20fFiE D+ T(F%E TAERL . £1-%
NENDEEZEIDRBAIEN=HKE IO ITEET ELEL,
XBBROEMRSE
Ay & 48.300 79.2 37.6
& &t 111.300 202.6 104.9




BHD IvoU—RRELD

N avy)—kEiEL
. b B
B oA R 3 .
(m) W E Y # = Br m E B # = W ™ E Y o= Br m E B =

No. O 0.09
No. 0 +  0.700 0.700 0.09 0.090 0.06 No.0
No. 0 +  0.700 0.20 No.0+7.000
No. 0 +  7.000 6.300 0.20 0.200 1.26
No. 0 + 10.900 3.900 0.20 0.200 0.78 No.0+7.000
HBBEOEMR SR

N E 10.900 2.10




BED 3oy —RELD

OV )—bFERIEL
A=0. 02m2

V=0.02x0.30= 0.006 m3

:
™

a9 )—FEIEL
A=0.004 x 2=0.008m2

V=0.008 X0.25= 0.002 m3

&8 210 m3




BEQ +T

N PR1E HE
B A R m3) md) fhE
(m) Wr m Ty | HWE| A T = W & T 15 = B | T =
No. 0 25 1.2
No. 0 + 10.000[  10.000 1.6 2.05 20.5 0.7 0.95 9.5
No. 1 10.000 2.3 1.95 19.5 1.1 0.90 9.0
25EHET I BD 4.000 6.1 4.20 16.8 3.6 2.35 9.4 No.1+6.000 (81)
A 3EHET KIE @) 7.2 43 No.2 (BiT)
4-4BEET KIE G 4.800 7.2 7.20 34.6 43 4.30 20.6 No.2 (§i1)
44BEET KIE () 4.2 3.2 o2 1200011,
4-55FET KIE G 7.200 4.2 4.20 30.2 3.2 3.20 23.0 No.2:+12.000 (Bi])
4-55%ET KIE (B 3.3 1.2 No.2+17.000
No. 2 + 17.700 3.150 3.3 3.30 10.4 1.2 1.20 3.8
No. 3 2.300 1.4 2.35 5.4 0.6 0.90 2.1
No. 3 +  5.000 5.000 3.7 2.55 12.8 0.6 0.60 3.0
P. 2 8.800 1.0 2.35 20.7 0.6 0.60 5.3
No. 3 + 17.800 4.000 1.6 1.30 5.2 0.9 0.75 3.0
NO.1+4.000~NO.1+13.000#$3E D + T [£3% 2= T ASERL . F1-
TNTNDEEZETIOREAEN=HKBIOLITITE ELALY,
KRR M RS
UL 59.250 176.1 88.7




BHQ JvsU—RRUEL

a'/\ %»\“\'L V=187X005= 009 m3

+265. 1

é65. 69




BEO +T

A B = = =
(m) Wr m T 9 wmE Wr m I 1 B = Wr m T = Wr m I B =
No. 0 1.8 1.0
No. 0 + 6500 6.500 1.2 1.50 9.8 0.6 0.80 5.2
No. 0 + 15000 8.500 1.3 1.25 10.6 0.7 0.65 5.5
& i 15.000 20.4 10.7




HEETSER()

Z ] % it & R #® =
JovyiEhEE: 340 m
avhY—kJOvs | % 35em (312X 34 1061 m’
EAHary—k t=150 0.95 X 3.4 323 m
EDN ) RC-40 0.9x34 306 m°
BB+ 0.5x% 3.4 1.7 m
Kig/ (T =450 10.61/3 X 0.45 16 m
X3.0mIC1ERRR
HEEaro1)—k 340 m
avy)—k 0 ck=18N/mm” [1.140/10 X 3.4 039 m
By WErtEEY  |40/10x34 136 m’
ERMRA RC-40 7.2/10x 3.4 245 m’
EEBIE +5 7.2/10 X 3.4 245 m’
Ko Hy—k 3.40
avy)—k 0 ck=18N/mm” |0.700/10 X 3.4 0.24 ¥
By mEHIEY  |212/10x34 072 m
MEET t=300 2 &
avy)—k 0 ck=18N/mm” |0.910 X 2 182 m°
By EmErtEay  |524x2 1048 m’




Pardand =

g B it ' 2
JOvoiERERE T 700
iy — b 350
%0
0
o
[e)
ZAavy)—F
ock=18N/mm’
o o
g S
Lo
2
T O
§§,~ |_"_/ / = <
Lo Lo [v. / —
s y—p /100520100 .
720
% it 7 A B 2
(1.0mZL)
avHy)—r70v4(2.90%1.077%1.0 312
$%2 % 35cm
EAHALH)—HN(2.90 X 1.044+0.185) X 0.10 X 1.0+3.12 X 0.2 0.95
t=150
=AM 0.85%1.0 0.9
RC-40 (EHRSR)
BEL 0.45% 1.0 0.5
(RS R)
KIRE/SMT [312%3.4/3%0.45 1.6

L=450




g 5 it E £
HiEa o)—b+
100 420
[
‘ ‘ //\ |7/ /
I \T-y/ /
1L ~ / ,
S L / 8
AN N/ 8
()
3 N
HEERAR 10 220 08 EHEEavh)-+ BEXL
% it '8 K Hn =
(10.0m%HY)
av9)—k (0.52 X 0.30-1/2 X 0.42 X 0.20) X 10.0 114
0 ck=18N/mm?
B B (0.30+0.10) X 10.0 4.00
BOEED
HEBRR 0.72%10.0 7.2
RC-40 t=150
HEMEEIE 0.72%10.0 7.2

T®#




g B T E O£
Kigaro)—k

700

KiEavh-} 350

A
S

100

B 3 oE R B
(10.0m¥ L))
avo)—k (0.700 X 0.10) X 10.0 0700 m?
0 ck=18N/mm’
L (0.10 X 1.077+0.10 X 1.044) X 10.0 212 m?

BitaE




£ 5 it E £
NhaAwtET
300
o
o
& S
o
(9]
l o
Lo
<
1065
% i E A B =
Q:GiED))
avo)—k ((0.700+1.065) /2 x 3.45) X 0.30 0.91
0 ck=18N/mm?
B B (0.3x3.45x% (1.077+1.044)) + ((0.700+1.065) /2 x 3.45) 5.24

BitaE




BRI

& Ad 115
. A2 8.5
A3 10.5
Ad 1.4
g | A5 | 14
A6 2.1
. A7 1.5
A8 1.5
A9 0.7
A10 215
A1l 16.5
A12 1.9
+ gy | A13 | 19
Al4 1.2
A15 1.4
A16 2.0
ERH#R3 Al7 9.7
' a5t 958
itk 2.236

214.2




g 5 it E F
AT
I
% W i B K M E
(1.0m¥%L)
ey 1.118xH

t=200




KERT SR

B4R BRHR2 BRHR3
L ¥R psikisy i o7 K BE i o7 K BE i o7 K BE &%
1SURIKEET 0.7 0.70 m m m 0.70 m
av9)—k 0 ck=18N/mm2 [2.10/10.0 X 0.70 0.150 m’ m’ m’ 0.15 m’
By INEUESEY [22.00/10.0 X 0.70 1.54 m’ m’ m’ 1.54 m’
ERERR RC-40 t=150 [7.00/10.0X0.70 0.5 m’ m’ m’ 0.49 m’
WK —k L=900 0.90%0.70 0.6 m’ m’ m’ 0.6 m’
BET P=100F#E |07 0.7 m m m 0.70 m
2BURKERT 135.75 m 26.95+2.10+8.95+11.10+30.05 79.15 m 147 14.70 m 229.60 m
avyy—k 0 ck=18N/mm2 |1.800/10.0 X 135.75 24.440 m’ 1.800/10.0 X 79.15 14.250 m’ 1.800/10.0 X 14.70 2.650 m’ 41.34 m’
bl ANEVREIEY  |18.00/10.0 X 135.75 244.35 m’ 18.00/10.0 X 79.15 142.47 m’ 18.00/10.0 X 14.70 26.46 m’ 413.28 m’
EHRA RC-40 t=150 [7.00/10.0 X 135.75 95.0 m’ 7.00/10.0 X 79.15 55.4 m’ 7.00/10.0 X 14.70 10.3 m’ 160.7 m’
WK —k L=900 0.90 X 135.75 122.2 m’ 0.90%79.15 71.2 m’ 0.90 X 14.70 13.2 m’ 206.65 m’
EIET D=100HFE [135.75 135.8 m 79.15 79.2 m 14.7 147 m 229.60 m
Bith IS5REA 10mm|24.440/10 24 m’ 14.250/10 1.4 m’ 2.650/10 0.3 m’ 4.1 m’
SEURIKERT 8.4 8.40 m m m 8.40 m
ar9)—k 0 ck=18N/mm2 [1.80/10.0 X 8.40 1510 m’ m’ m’ 1.51 m’
By ANEUESEY  [18.00/10.0 X 8.40 15.12 m’ m’ m’ 15.12 m’
Ei D13. L=200@500 |7.96/10.0 X 8.40 6.7 kg kg kg 6.69 m’
LEIKEE 4.00 m m m 4.00 md
= 0 ck=18N/mm2 |1.08/10x 4 0.430 m® m® m? 043 m?
iy INEURESEY  |9/10%4 3.6 m? m? m? 36 m?
EHRA RC-40 t=150 [3.4/10x4 1.4 m” m’ m’ 1.4 m’
155k 2 EET EET EET 2 =17
av9)—k 0 ck=18N/mm2 [0.284 x 2 0.57 m’ m’ m’ 0.57 m’
By INEURESEY  [346%2 6.9 m’ m’ m’ 6.92 m’
ERERR RC-40 t=150 [0.81x2 1.6 m’ m’ m’ 1.6 m’
25 &Kk 9 EET 4 EET EET 13 =17
av9)—k 0 ck=18N/mm2 [0.192 X 9 1.73 m’ 0.192 X 4 0.77 m’ m’ 2.50 m’
filh ] INEUREEY  [218%09 19.6 m’ 2.18x4 8.7 m’ m’ 283 m’
ERERR RC-40 t=150 [0.57X9 5.1 m’ 057%x4 2.3 m’ m’ 74 m’
35 &K 1 EET EET 1 517 2 =17
av9)—k 0 ck=18N/mm2 [0.270 X 2 0.54 m’ m’ 0.270 X 2 0.54 m’ 1.08 m’
By INEURESEY  [3.37%2 6.7 m’ m’ 3.37%2 6.7 m’ 13.48 m’
ERERR RC-40 t=150 [0.81x2 1.6 m’ m’ 0.81x2 1.6 m’ 3.2 m’
45 &K EET 1 EET 1 517 2 =17
av9)—k 0 ck=18N/mm2 m’ 0.297 x 1 0.30 m’ 0.297 x 1 0.30 m’ 0.60 m’
Rl INEUESE Y m’ 3.55 X 1 3.6 m’ 3.55 X 1 3.6 m’ 7.10 m’
ERERR RC-40 t=150 m’ 0.81X1 0.8 m’ 0.81X1 0.8 m’ 1.6 m’
HEEEF &5 TR 0.5+95.0++1.4+1.6+5.1+1.6 105.2 m’ 55.4+2.3+0.8 58.5 m’ 10.3+1.6+0.8 127 m’ 176.4 m’
Figar o) —k 10.9+21.7 32.6 m’ m’ m’ 32.6 m’
ar9)—k 0 ck=18N/mm2 [1. 09+2. 17 3.26 m’ 3.26 m’
filk ] INEUESEY  |0.55 0.55 m’ 0.55 m’
ERER RC-40 t=100 [10.9+21.7 326 m’ 32.6 m’




FarHU—hD

FEaLHY—F oy
A=10. 9m2 “301\09 ; 200. 9

A= 10. m2
188. 15 191457—\ 00. 55\« 0.9

197. 49 99.09 0
AN

\ =
QA X
Q) 196. 64
196. 88

96. 88

" ~ - —A196.46] 16 17

; £ 21— LE D600

185. 40




FRI Y —FD

m2

21.7

y— b

RV

A

21.7m2




Pardand =

B =

BB OB

1S URIKEE
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600
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700

EET (¢100HFE)

B W
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il

(10.0mL))

av9)—k

(0.60 x 0.55-0.30 X 0.40) x 10.0

2.10

0 ck=18N/mm?

B

(0.55% 4)x 10.0

220

BitaE

EHERA

0.700 x 10.0

7.0

RC-40 t=150

EEEIE

0.700 x 10.0

7.0

T

WK —k

0.90x10.0

9.0

L= 900

ERT

10.0

O=100E A&




g 5 it E £
25 UBI k&
600
150 300 150
o
o
™ o
Lo
<
o
Lo
- ) = o
S RaER: =
BAK—F
BrEmZy L=900
BFET (o100 E)
50 600 50
700
% it '8 K Hn =
(10.0mL))
avy)—k (0.60 X 0.45-0.30 X 0.30) x 10.0 1.80
0 ck=18N/mm?
B B (0.45 x 4) x 10.0 18.0
BOEED
HEBRR 0.700 X 10.0 7.0
RC-40 t=150
HEMEEIE 0.700 x 10.0 7.0
T
BEK—bk 0.90 X 10.0 9.0
L= 900
BEETL 10.0
O=100E A&
B 4t 1.800/10.0 0.2
t=10mm ISRAAk




Pardand =

® 5 it E £
3B URIKEE
600
150 300 150

o

o

™ o

Lo
<t
()
[Kep)
BEERA# T £/ (D13)
L=2000500
% i E A B =

(10.0mL))
avs)—k (0.600 x 0.450-0.300 x 0.300) X 10.0 180 m?
0 ck=18N/mm?
B B (0.450 x 4) X 10.0 180 m?
BOEED
=i (0.995% 0.2 X 2) X 10.0/0.5 796 kg

D13. L=200@500




Pardand =

BB OB

) =2
155 K#t
IVHY- KR 800
‘ 150 500 150 avh) - KR
%&N/mmz avh)-bKE
23 [ [
- 300 -
8/
300 = 3 _— LGJ ﬁﬁ/ 8
— _
EEEA
(RC-40)
V)Y - bIK & 50 800 50
150 300 |150 900
600
% it '8 K Hn =
(1E#ETHY)
KT
oV —k 0.80 X 0.80 X 0.70—0.50 X 0.50 X 0.55—0.15 X 0.30 X 0.30 X 2 0284 m°
0 ck=18N/mm?
Eil i oA (0.80+0.50) X 0.70 X 4+0.30 X 0.15 X 2 X 2-0.30 X 0.30 X 2 X 2 346 m?
BOEED
HEiERa 0.90 X 0.90 081 m?
RC-40 t=150
HEMEEIE 0.90 X 0.90 081 m?

T




g 5 it R £
25 5K #
// N T
/!
/ /!
785 / /
785 /
- /
chl:gFilsm/m 150 835 150 635 / //
3 500 3 7\@0
— = hY- / /
o ck=18N/mm” / /
g _ i _ __ g g F /
& . B =) C 7 /
. N S 7/
2 = / /
avh Y- kK EE § 4 / /
500 f 150 // J
= /
/
LRRE 605 ||
(RC-40)
633
B 3 oE R B
(1ERTHY)
WKET
a o) —k (0.785+0.605)/2 x 0.60 X 0.80-(0.635+0.50)/2 X 0.45 X 0.50-0.15 x 0.30 x 0.30 0.192 m3
0 ck=18N/mm’
Ci I A ((0.785+0.605)/2 X 2+(0.635+0.455)/2 X 2+0.80+0.50) X 0.60+0.15 X 0.30 X 2-0.30 X 0.30 X 2 218 m?
BFHEEY
EERa 0.63 X 0.90 057 m?
RC-40 t=150
EmEIE 0.61 x0.90 055 m?
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Pardand =

BB OB

KE=3-/ ¢!

800

VY- bKER
-t 150 500 150,
]U/GkZ18N/mITIZ U9 -bKER
V) -bKEE
‘ 300 ‘ -
g I R T S S e
g s ? O —g
j VY -bKEE 7
hY-bk B %
150 500 150 50 800 50
800 900
B 3 oE R B
(1E#ETHY)
WKL
avo)—k 0.80 X 0.80 X 0.70—0.50 X 0.50 X 0.55—0.15 % 0.30 X 0.30 X 3 0270 m°
0 ck=18N/mm?
Eil i oA (0.80+0.50) X 0.70 X 4+0.30 X 0.15X 2 X 3-0.30 X 0.30 X 2 X 3 337 m?
BOEED
HEiERa 0.90 X 0.90 081 m?
RC-40 t=150
HEMEEIE 0.90 X 0.90 081 m?
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45 K ¥t
800 800
- 150 500 150 150 500 150
o ck=18N/mm*
V9= bKEE
\ § [ 300 [
— 8
sl o I I IR Lo
2 S / O S S
— _
EBERA
(RC-40)
avh-bKER 50 300 50
150 300 150 900
600
B 3 oE R B
(1E#ETHY)
KT
avo)—k 0.80 X 0.80 X 0.70—0.50 X 0.50 X 0.55—0.15 X 0.30 X 0.30 0.297 3
0 ck=18N/mm?
B B (0.80+0.50) X 0.70 X 4+0.30 X 0.15 X 2-0.30 X 0.30 X 2 355 2
BOEED
HEBRR 0.90 X 0.90 0.81 2
RC-40 t=150
HEMEEIE 0.90 X 0.90 0.81 2

T
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LB K B&
450
YY) -FKER
150, 300 /
< /
.8 /
2
3
o
hrs) ~
3 o -
ERREA i
W )c 290 10‘
% it '8 K Hn =
(10.0mZY)
oV —k ((0.15 x 0.30)+(0.45+0.39)/2 X 0.15) X 10.0 1080 m°
0 ck=18N/mm?
B o (0.45+0.45) X 10.0 9.00 m?
BOEED
HEiERa 0.34%10.0 340 m?

RC-40 t=150




Pardand =

B =

BB OB

FiRYaro)—b

500

EWERA

(RC-40)

# FF it B R H =
FiRIAVY)-MD 109 m?
(10.9m241))
avy)—k 0.10 X 10.9 1.09 m3
0 ck=18N/mm’

CiL A 0.10x(10.9 X 0.5) 055 m?
BHBEEY

EMtRA 10.9 109 m?
RC-40 t=150

FiRIAVYY-MD 217 m?

(21.7m2¥Y)

av9)—k 0.10%x 21.7 217 m3
0 ck=18N/mm’

EMtRA 21.7 217 m?
RC-40 t=150




BETI&KHR W)

£ RE %fm Fﬁz &&t
o5 # HE o R HE
15%EL H=4000 BENSR 1 Bl [l 1 [l
avyy—+ 0 ck=18N/mm2 KBTHMNHBERSE 9.160 m m’ 9.160 m®
B REHEEY KBEIHEBERSRE 26.89 m? m? 26.89 m?
Fa3i 3y RC-40 t=200 KB ITHMEHBRSR 45 2 m? 45 m?
L —kTY 2— L |DE-500 X 250 KBIEUHERSE 35 35
BRET O=100EFLE 04 m m 0.4 m
2EEET H=2900 BERSR 4 AT HERSRE 1 BT 5 &R
avy)—k 0 ck=18N/mm2 (KBITHEUMHERSE) x4 22118 m? kBIEMHERSE) 5.529 m® 27.647 m’
By EHBEY CKBIHEMHERSE) x4 74.24 m? kBIEMHERSR) 18.56 m? 92.80 m?
H@RRA RC-40 =200 CKBEIHEUBERSE) x4 147 m? OkBIELHKERSR) 37 m? 18.4 m?
LS —kT1)1—L [DE-500 X 250 CKBRTHEUBERSR) x4 9.6 m OKBIHEUHKERSR) 24 12.0
EET O=100E7LE 0.4x4 1.60 m 0.4 0.4 m 20 m
ISHET H=2200 BENSR 1 Bl Bl 1 [l
avy)—tk 0 ck=18N/mm2 CkBIEMHERSR) 3.654 m m’ 3.654 m?
B EEHEIEY kBIEMHERSE) 13.64 m? m? 13.64 m?
Fa3i 3y RC-40 t=200 KB THEUHKERSER) 3.2 2 m? 32 m?
LS =T a—L [DE-500 x 250 UKBIHEUHERSR) 1.7 m m 1.7 m
BRET O=100FFE 0.4 0.4 m m 0.4 m
4EEET H=2700 BERSR 2 AT HBERSRE 3 &R 5 &R
avy)—k 0 ck=18N/mm2 (KBTHUHMERSE) x2 9.918 m? KB IEEHERSE) x3 14.877 m® 24.795 m®
Bl EEHBEY OKBIBAHERSE) x2 34.25 m? OKBIEAHERSE) x3 51.37 m? 85.62 m?
H@RRA RC-40 =200 OKBIEMHERSR) x2 7.1 m? KB IHEEBERSRE) x3 106 m’ 17.6 m’
LS —k 71 a—L [DEI-500 X 250 (KBIHEAHEBRSE) x2 4.4 m KkBIEMHERSE) X3 6.6 m 1.0 m
EET O=1007LE 0.4x2 0.80 m 04x3 1.2 m 20 m
SEEET H=2000 BENSR 1 Bl Bl 1 [l
avyy—+ 0 ck=18N/mm2 CkBIEMHERSR) 3.180 m’ m’ 3.180 m®
B EEHEIEY kBIEMHERSE) 12.29 m? m? 12.29 m?
Fa3i 3y RC-40 t=200 KB THEUHKERSER) 30 m? m? 30 m?
LS =T 2—L [DE-500 x 250 UKBIHEUHERSR) 15 15
EET =100 7L & 04 0.40 m m 04 m
+T (15~5%)
[z T8 71.1+40.7 X 4+27.1+36.2 X 2+19.8 353.2 m® 40.7+36.2% 3 149.3 m’ 502.5 m’
R 57.9+32.0 X 4+20.6+28.4 X 2+14.2 2715 m® 32.0+284 %3 117.2 m? 394.7 m?
HEEE T 4.50+3.70 X 4+3.20+3.50 X 2+3.00 325 m? 3.70+3.50 X 3 142 m? 46.7 m?

XEEITTIRSE




158EI1TT

==
B oA B = o =
(m) Wr m T 9 wmE Wr m I 1 B = Wr m T = Wr m I B =
No. 1 4+  9.000 14 0.8
No. 1 + 10.100 1.100 1.4 1.4 1.5 0.8 0.8 0.9 No.1+9.000
No. 1 4+ 11.300 1.200 22.7 12.1 145 13.0 6.9 8.3
No. 1 + 11.700 0.400 22.7 22.7 9.1 13.0 13.0 5.2 No.1+11.300
No. 1 4+ 12200 0.500 25.2 24.0 12.0 25.2 19.1 9.6
No. 1 + 14.900 2.700 0.0 12.6 34.0 0.0 12.6 34.0
XEER ZETLIRSE
& &t 5.900 71.1 57.9




25%ETLTT

. BER
B A L gﬁsﬁi fg; =
(m) W | T 15 M E| B m T 15 wmE W | T 15 = W & T 15 W E
RIERATE Al 1.4 0.8
- R EE 1.100 1.4 1.4 15 0.8 0.8 0.9 FRIERIIE T
KimE 0.850 15.0 8.2 7.0 7.8 4.3 3.7
Kin & m 0.400 15.0 15.0 6.0 7.8 7.8 3.1 KimE
RIERWBIE % 0.500 16.6 15.8 7.9 16.6 12.2 6.1
R s 2.200 0.0 8.3 18.3 0.0 8.3 18.3
XEEK ZETITINSER
& &t 5.050 40.7 32.0




IBEETLTT

—
A A A fﬁiﬁi fg; e
(m) Br M E Y = BT m E Y #E By m E Y # = BT m E Y #E

No. 3 + 7.000 1.3 0.7

No. 3 + 8.100 1.100 1.3 1.3 1.4 0.7 0.7 0.8 No.3+7.000
No. 3 + 8.800 0.700 10.8 6.1 4.2 5.2 3.0 2.1

No. 3 + 9.200 0.400 10.8 10.8 4.3 52 52 2.1 No.3+8.800
No. 3 + 9.700 0.500 12.8 11.8 59 12.8 9.0 4.5

No. 3 + 11.400 1.750 0.0 6.4 11.2 0.0 6.4 11.2

XEER RETITRSHE

a &t 4.450 27.1 20.6




A5EETILTT

. BER
B A L gﬁsﬁi fg; =
(m) W | T 15 M E| B m T 15 wmE W | T 15 = W & T 15 W E
RIERATE Al 1.1 0.6
- R EE 1.100 1.1 1.1 1.2 0.6 0.6 0.7 FRIERIIE T
KimE 0.800 13.8 7.5 6.0 7.1 3.9 3.1
Kin & m 0.400 13.8 13.8 55 7.1 7.1 2.8 KimE
RIERWBIE % 0.500 15.4 14.6 7.3 15.4 11.3 5.6
R s 2.100 0.0 7.7 16.2 0.0 7.7 16.2
XEEK ZETITINSER
& &t 4.900 36.2 28.4
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(m) Br M E Y = BT m E Y #E By m E Y # = BT m E Y #E

No. 5 + 8.800 1.1 0.6

No. 5 + 9.900 1.100 1.1 1.1 1.2 0.6 0.6 0.7 No.5+8.800
No. 5 4+ 10500 0.600 9.7 5.4 3.2 4.6 2.6 1.6

No. 5 4+ 10.900 0.400 9.7 9.7 3.9 4.6 4.6 1.8 No.5+10.900
No. 5 4+ 11.400 0.500 10.3 10.0 5.0 10.3 75 3.7

No. 5 + 12700 1.250 0.0 5.2 6.4 0.0 52 6.4

XEER RETITRSHE

& &t 3.850 19.8 14.2
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av9)—k (0.40+ (0.3H+0.40))/2 x H % 2.30-0.30 x 0.30 x 0.445
0 ck=18N/mm?
5_.*,2 *?,." (0.40+ (0.3H40.40))/2 X H x 2+2.30 X H % (1.044+1.0)-0.30 % 0.30 X (1+1.044)+0.445 x 0.30 X 2
BOEED
MR ((0.3H+0.40) +0.20) x 2.50
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R TEE R

% W W% it &5 R B =
REFEE/L—IL 3295 m
R -HE 3295 m
L—ILEMER |RERERM 60.0+16.4+79.3 1557 m
RE&EE 1.00 fHFf
7 T ER|1000 x 2000 x 203 4800 m2
H300x 300X 10X 15
L EBT | 350 x 350 x 12 x 19 603 t
H300x 300X 10X 15
THL| {50 150 % 12 304  t
HiEa91)—k 0 ck=18N/mm2 [1.0x1.0%x0.5x6 3.0 8
B 1.0X05X4X6 12.0 2
H A [RC-40. t=200 12X12%6 8.6 2
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8.0X6.0 480 m2
ItHIES REREEHERKY 6030.0 kg
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H 300 X 300X 10 X 15 6000| 93.00 | 558.00 5| 2,790.0 | SS400 | T 54T
H 350 X 350 X 12 X 19 8000| 135.00 | 1080.00 3 3,240.0 Il Miszlr
T A 6,030.0
(T & 1)
H 300 X 300X 10 X 15 4000 93.00 | 372.00 3 1,116.0 | SS400 | ¥t
H 300 X 300X 10 X 15 2500| 93.00 | 232.50 3 697.5 | SS400 S EL
L [150 X 150 X 12 5000 27.30 | 136.50 9 1,228.5 | $S400 At
FHE L E 3,042.0




